11 Jul 2018 (DOY 192)

GOES X-ray Flux

o X
S
S M
0 c
o}
© B
A
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. ESP 0-7 nm
€ 0.18[ ]
S # ]
m\ 0.16 C wW\ f 7
o C + * ]
o r + }EE A T
c 0.14 * g
2 W}zé}g%i ]
(o] -
£ 0.12
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
—~ m0|uw nm
e 2.5F E
~ E 3
= 2.0F =
£ E E
o 1.5E E
(8] E 3
C e 3
2 1.0E =
S E E
m 0.5E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N Fe XX 13.28 nm (log T=6.97)
t 2.25[0 7
> .
€ 1.75F .
o r ]
€ 1.25F .
..w - .
£ 0.75L .
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. Fe XVIIl 9.39 nm (log T=6.81)
t 2.25[0 7
> .
€ 1.75F .
o C i
€ 1.25F .
5 L ]
£ 07sL ]
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)

Irradiance (mW/m?)

Fe XVI 33.54 nm (log T=6.43)

0.00983 [ ]

- + -
0.00916 | ?M .
0.00849 | - ]
0.00783 L ]

18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N Fe XIV 21.13 nm (log T=6.27)
t 2.25[0 7
> .
€ 1.75F .
o r ]
€ 1.25F .
..w - -
£ 07sL ]
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N Fe XIl 19.51 nm (log T=6.13)
t 2.25[0 7
> .
€ 1.75F .
o C ]
€ 1.25F .
..w - -
£ 07sL ]
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. Fe IX 17.11 nm (log T=5.81)
t 2.25[0 7
> .
€ 1.75F .
o r ]
€ 1.25F .
3 r ]
£ 07sL ]
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N He Il 30.38 nm (log T=4.70)
t 2.25[0 7
> .
€ 1.75F .
o r ]
€ 1.25F .
5 L ]
2 0.75L ]
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Time (UT)

ks ESP 0—7 nm
> 0.18F =
£ = #y 3
E 0.16F . A -
[ - - e =
g 0.14 p— — e ———— ——— "FM S;\ o N ]
S 0.12F =
e
S 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E ESP 17.1 nm
> 0.4633F 3
c - o -
0.4567
N2 - —— ™ 3
S 0.4500 F - W \ f -
5 w Tt =
S 0.4433 ", 3
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E ESP 25.7 nm
> 0.260F m 3
E 0.255F VL m““w”‘ ot 3
- WW -
8 0.250 - : 3
9 0245E e 3
2 o
1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
NE ESP 30.4 nm
> 0.63F 3
E 062F R e St w:“ f T, =
8 061F - -
2 0.60 Ww =
2 0.
S 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E ESP 36.6 nm
> 0.226F N =
E 0.159F gt ISt e ¢ e . =
e N VAV RO S W C T WA AV RV W L W e E
g .093 W\jﬁ % A= -, A P S T S i =
= 0.026 =& * ++ + + =
e
1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
“g MEGS—P 121.6 nm
E 6.20F \J ‘\ 3
S 6.15F ¥ 3
e M =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



Irradiance (mW/m?)

Time (UT)

ks Fe XX 13.28 nm (log T=6.97)
> 2.25F =
= 440 -
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ Fe XX 72.16 nm (log T=6.96)
> 0.0007 F =
E 0.0006 F 4......\\ * -
0] = + + 3
S 0.0005F V{M‘g" =
-2 0.0004 E . =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XX 56.79 nm (log T=6.96)
> 6.0x107*E y =
S = -
E 59x10™E - =
8 5.8x10™F Ayl ]
2 5.7x10™*E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XIX 59.22 nm (log T=6.89)
> 5.4x107*E i 3
E 5.2x10™E ) =
S 5.0x107 — 4l =
2 4.8x107*E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe XVIIl 9.39 nm (log T=6.81)
> 2.25F =
= 440 -
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
S XIV 44.57 nm (log T=6.44)
3.75x107*E 3
3.25x107*E *"""‘\' =
2.75x107E gj‘\f’ =
2.25x107*E A =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
€ Fe XVI 36.08 nm (log T=6.43)
> 0.00510F =
E 0.00484F 3l 3
[} - K -
© 0.00457F e \\ =
-2 0.00430E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Fe XVI 33.54 nm (log T=6.43)
> 0.00983F ; =
E 0.00916F - =
8 0.00849F o, 3
-2 0.00783E \\ =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



Irradiance (mW/m?)

Irradiance (mW/m?)

Irradiance (mW/m?)

ks Fe XV 28.42 nm (log T=6.30)
> 2.25F =
= 4 c 3
E 175E =
S 1255 =
2 0.75E -
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
Si XIl 49.94 nm (log T=6.29)
6.261x107°F =
6.195x107 + -

- + =
6.128x107°F {I\VL’/ =
6.061x107°E / -

18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
Si Xl 52.10 nm (log T=6.28)
1.773x107°F =
1.747x1073F 4......\\ =

= .. =
1.720x1073F 4 ]
1.693x107°E L"\I\ -

18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
ks Fe XIV 21.13 nm (log T=6.27)
> 2.25F =
= 4 c 3
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe Xl 20.20 nm (log T=6.19)
> 2.25F =
= 4 c 3
E 175E =
S 1255 =
2 0.75E -
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XIl 19.51 nm (log T=6.13)
> 2.25F =
E 175E =
S 1255 =
2 0.75E -
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
Mg X 60.98 nm (log T=6.10)
6.273x107°F N =
6.247x107° 4""“\+ -
6.220x1073 U\’Vﬂ\‘ =
6.193x107°E * L -
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
ks Fe XI 18.04 nm (log T=6.07)
> 2.25F -
= 4 c 3
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)

Mg X 62.49 nm (log T=6.05)

6.35x107°F =
6.30x107° ,‘ 7 =
6.25x107* | " =
6.20x107°E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
k= Mg IX 36.81 nm (log T=5.99)
> 0.0515F : =
E 0.0510F 1 =
$ 0.0505 F MV\ =
2 0.0500E h =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe X 17.72 nm (log T=5.99)
> 2.25F =
E 175 =
8 1.25F =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ Ne VIl 77.04 nm (log T=5.81)
> 0.0100F =
£ 0.0008F — =
S 0.0096 F i ‘ 3
S = ol =
2 0.0094E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Fe IX 17.11 nm (log T=5.81)
> 2.25F =
E 175 =
8 1.25F =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Ne VIl 46.52 nm (log T=5.71)
> 0.0137F - 3
E — + ]
E 0.0136F W =
$ 0.0135F A =
2 0.0134E * =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Fe VIl 13.12 nm (log T=5.57)
> 2.25F =
E 175 =
8 1.25F =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e O VI 103.19 nm (log T=5.47)
> 0.0420F =
€ = DY =
E 0.0415F =
[} - /tw’\,;: =
© 0.0410F — =
-2 0.0405E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



OV 62.97 nm (log T=5.37)

Time (UT)

E
~
= 0.0419F . E
E 0.0417F =
— + —
g 0.0415F “*‘wﬂqg =
2 0.0413E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ O IV 79.02 nm (log T=5.19)
> 0.0100F =
E 0.0098F ,"/\‘% =
[} - A =
g 0.0096 1 =
2 0.0094E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E O IV 55.44 nm (log T=5.19)
> 0.0202F . 3
E — —
E 0.0201F r =
$ 0.0200F Y7 =
2 0.0199E + =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E O Il 59.96 nm (log T=4.92)
= 4.05x107°F =
€ -3 * 3
E 3.95x1073F =
9 -3E -m.\ J\ " =
O 3.85x107°F ot 3
2 3.75x107°E : =
e 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E O Il 52.58 nm (log T=4.92)
= 2.073x107°E =
E 2.047x107F ] =
[} - =
O 2.020x107? o
< - o 3
2 1.993x107°E = =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e C Il 97.70 nm (log T=4.84)
> 0.11557F v =
S - L =
E 011491 =
= - |7 =
S 011424 I/w\’ﬁl =
2 0.11357E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= He Il 25.63 nm (log T=4.75)
> 2.25F =
E 175E =
[} - =
O 1.25
= - -
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= He Il 30.38 nm (log T=4.70)
> 2.25F =
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



Irradiance (mW/m?)

Irradiance (mW/m?)

£ O 1l 83.55 nm (log T=4.52)
> 0.0275F =
E 0.0270F *““'*\\‘ =
$ 0.0265F Sl =
s = =
2 0.0260E =
°
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
O Il 71.85 nm (log T=4.48)
1.80x107°F ] A =
1.75X1O_3: \.*‘}\b :
1.70x107* Vi -
1.65x1073E ’ 3
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
€ He | 58.43 nm (log T=4.16)
> 0.0357F " =
E 0.0356 F =5 3
$ 0.0355F A =
s = =
2 0.0354E 3
°
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= H 1 102.57 nm (log T=3.84)
> 0.0585F . 3
E 0.0580F [*“\J}" ]
) - + =
g 0.0575: o] A =
2 0.0570E -
°
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ H197.25 nm (log T=3.84)
> 0.0145F =
E 0.0140F f\//L =
o = W] 3
© 0.0135F MJ ¥ =
2 0.0130E : =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E H 1 94.97 nm (log T=3.84)

0.0090 F : 3
= = A =
E — —
:: 0.0085 = f}f}\‘ 3
8 0.0080 = preeeeen | *\ -
o - + =
2 0.0075
°
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)

He | 53.70 nm (log T=3.84)
4.26x107°F =
4.24x107°F m\\t* -
4.22x1073F ”J\m’ =
4.20x107°E * -
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?) Irradiance (mW/m?)

Irradiance (mW/m?)

AlA 94 Channel

225F ]
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 131 Channel
225F ]
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 171 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlIA 193 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 211 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlA 304 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlIA 335 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?)

Irradiance (mW/m?)

MEGS ESP 17.1 nm

2.25F =
1.75F -
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 25.7 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 30.4 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 36.6 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)

"E MEGS—A1
> 2.25F 3
E175E =
8 1.25F =
€ = 3
2 0.75E 3
e
S 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
"E MEGS—-A2
> 2.25F 3
E175E =
8 1.25F =
€ = 3
2 0.75E 3
e
S 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
“E MEGS—-B Short
0.244F =
= - + =
E 0242F *"""‘\72/\\% 3
8 0.240F — =
o - + -
2 0.238E . 3
e
S 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
MEGS—-B Middle
0.15376 F 3
0.15310 l -
0.15243F i C =
0.15176 E + L 3
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
E MEGS-B Long
> 0.635F ) =
— f\ ++ —
E o630F /“VW -
S 0.625F - =
€ = 3
2 0.620E 3
e
S 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



